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DH2tH™eldl XI& 20,000 0 20,000
402 S12H X201 ™ 20,000 0 20,000
01 QI2Zt =22 X 20,000 0 20,000
Om2xeldl XI& 20,000, 000& 20,000
AT EAIE X AFZ 22| 50,000 0 50,000
401 AIEHIZ 20HYBI 50,000 0 50,000
01 Al &l 50,000 0 50,000
O ETHAMSX AFZ=22] 50,000,000 50,000
IBH=FES 10,000 0 10,000
401 AlEHIZ 2 OHYI 10,000 0 10,000
01 A& HI 10,000 0 10,000
OB == J3&EH 10,000,000& 10,000
HEEN =8 2 oa2tel 1,723,360 1,875,400 A 152,040
= 753,600
= 357,760
Al 612,000
MO Y8 ®mFHl NA 220,000 200,000 20,000
= 110,000
Al 110,000
307 2120 & 220,000 200,000 20,000
L= 110,000
Al 110,000
02 SIZHHAE X 220,000 200,000 20,000
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& 110,000
Al 110,000
HEE8 AZESEX B2 16,000 32,000 A 16,000
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Al 8,000
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Al 8,000
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& 65,000
Al 65,000
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Al 80,000
402 212 XH2 01 & 292, 160 0 292, 160
2 163,200
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Al 80,000
ABOH SREFAL &3 X 80,000 0 80,000
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Al 40,000
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= 40,000
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Al 2,000
01 QIR B X 24,000 0 24,000
© O} ¢ 4424 )1 & XI XI 2 A2 (5CH)
24,000,002 24,000
= 12,000
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